H & 0l & AHS B Ml A

od
i’
oF
uJ

N o — =

EEEEE S SEREEE 8 °T°
"BEHEEINEE 3|8 |5
Ko | << < <[ <<
E
F=)

ABEBEEE g S EEREBE 8 SE
Euﬁmmmﬂmw N N elc|e NMEN
(o]

LiEd
RIS
QO | © (48] L N~ N~ —

SIIEI8I88EE BREE § B8 § 888 8858 & 88588 gk § KBS

W % M Slo|e v » - — o) o o — — ||l NIK|E|le o KIS — g - A KN
3
<
b=

=E=35 5 B3 wWo o 8 8 R R [ o
I 8 8 o8 S - L 8 S 8
Koo Ko © 0 0© x 9 S R Q% 8 s 8
or g8y ¥ 9 8§ 8 8 e 05 WY 8 g 8
o ® W o * 9 > 8 kS 3 §
s tgf §E E T - > 5 . B
2] ] 1 ] ] m " m 5 o m
0 g g & NI + S B S
3l al o\ © O <+ 8 =T N
< < ~ B0 3 iy 30 = 3 < wozf M
i 5 390 = M oﬂw ) K1 3 w._ m.AD - M__”
= RO A T o b o | *ox oz =
= o xl O = _ @ | R WK = B & _
= gl Rl wo° oF i oow (i @ ow D ok T =
o ) 0 = 3 M = I zo Ko Kb I B My B _ﬂT
= ol -— 3 — 7 frs} ~ ~ — — =K = —
o y|*_|_ T2 B U 1 L T .~ RS =S O O I
o) |zl || Ml m w - Eo o ol nJ D | oD DD o w 0 < 7 A0 T < D |0l
. e e = o S N G = I~ o oklzo|m M W W Bk B A B < OF|RIR
= R lp|PR ED 2@ & Koo ke [k < |m|ob|fp KC R R U R0 @0 o0 X0 ROOTW o5 | KE|KE
70 e et R N jok|Em X |mo|D/fOF RT R R RCKC® fo w0 w0 W B [OF|&E
ot oyl EY IR K omW nojen< Boplel|x RS I BRI MM s e

Flol=| —|= = — — o~ — m|om — == — = o = = o |m
%Em_ﬁﬂfmo = Sl S| < &\°

RO [ <[ |K R

2 [ o | A

o | ok

I+




FA FSOEEN
M 2EAR2|o 583
ol EXZA & XNEFE 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NXHFel & 338X 2l
1,200,000 1,200
NEIIEY 22l 900,000 900
HESAIXIOL 2ESA 46,310 43,825 2,485
201 et 3| 45,310 42,825 2,485
01 AtR2te|Hl 45,310 42,825 2,485
NZAd0IM ZeiH 5,034
2)2RAAD (T, T, 2
320,000 *35+34 2,880
2)EMUT 220,000 *5H 1,100
EAPSESE 263,500 x2H 527
2)NMAMNEE 263,500 x2H 527
NE2H 7,263
2)EEX 44,5002 +302 1,335
2)ol=2eiu 211,500 x6 S +20K 2,533
2)23 113,000& x65+50H 3,390
1)&=ar Mz 69,3002 *4H 278
1)JIEt M2 26,335
2VMESAIRIL AEXIL BE =8
(41,6362 x24,0002 XI/30)*1. 1+60% 21,984
2)2IAHE L OIQME HUBZ 228
(41,6362 * 1002 XI*50%)*1 . 1 2,290
QEX0ISER MBIt BE =8
(41,6362 *3002! XI+50%+30%)*1 . 1 2,061
NgHisasd g9 2,000,000 x224 4,000
NRESLIASAIRIZE 2+
70,0002 x6H *43] 1,680
1IHEZAIXIOF EARME S20HAI
8,000 x5 32 x 122 x50% 720
203 HE=H] 1,000 1,000
03 A= PR FAI| 1,000 1,000
RESAIIATAIPI RS 2Y LSS
1,000,000& 1,000
SSo dFy2 11,940 4,872 7,068
fSMSHEE e 11,940 4,872 7,068
201 et 3| 8,740 1,672 7,068
01 At2t2l] 8,740 1,672 7,068
NESHUSHY 222 M
150& *2,0000H 300
NRSS SHIUY AEH M
5003 *7000H 350
NESAHAEN wetde] AN AEI5H
M= 5002 %7000H 350
1SUSHA H==(BE) = 6,948
AR S 960,000& 22 1,920
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FAN FSCEEN
B ZokEg BAE 2E
el SAUHIE A™st (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
FLFRIIEE KA
11,858,000& 11,858
401 AIZHIX R0 121,520 128,240 N6,720
01 AlZH| 121,520 128,240 26,720
NEAZEALE EX(cFAHSHST 0A)
12,0002 %9, 1004 109,200
NF=AZEALE EX(E2EE ZX)
160,000 *77M 12,320
HH 23 127,590 119,166 8,424
[2Z2H(FSAEE1) 127,590 119,166 8,424
JlE2Ztl(fs4EED) 127,590 119,166 8,424
201 et 3| 51,390 55,902 N4,512
01 AtR2tc|Hl 51,390 55,902 N4,512
NelzE 2E MAl 884,000 884
NEXSS 802+30,00004 900
1)2& 02l M 9,000&+105 D
Nelga SHYHIES 20,0003 x 122 240
NEMBZAX 40,0002 +72¢ At 280
NAHAFANRSEH 10,0002 %298 *43] 1,160
NER & HHSI BXE
1,000& 36 36
NAMRI1D |Xl2teld] 2,200
2)A 100,000 * 1CH*23] 200
2)21&D] 100,000 *3CH*43] 1,200
2)S A 100, 000& »2CH*43] 800
NIl=geFa S|
8,000 x25& 2041 x 122 %95% 45,600
202 04| 71,400 58,464 12,936
01 2LHA b 71,400 58,464 12,936
NJI282=28 ot
20,0003 x25E 142 » 122 »85% 71,400
203 HR=H] 4,800 4,800
M EA2ER=A 4,800 4,800
1)30@! olst 400,000&! 123 4,800




